ARCA
AR 664

UL Type 4, 4X, 6, 6P, 12 and 13

Including: 10-32 brass inserts, cover with formed in place
PUR gasket. Enclosure mounting foot kit. 10-32 screws
for panel mounting. Screw cover versions with 4 stainless
cover screws. Hinged screw cover versions with stainless
hinge pin and 2 cover screws.Hinged cover versions with
latched cover and stainless hinge pin. Quick release
latches. (Latch options available.)

Enclosures

Order symbol Dimensions inch Dimensions mm  Description

ARB645SC 6x6x4 152 x 152 x 102 PC Enclosure = Opaque screw cover

ARB64CHSC 6x6x4 152 x 152 x 102 PC Enclosure = Hinged opaque screw cover

AR664CHL 6x6x4 152 x 152 x 102 PC Enclosure = Hinged opaque cover w/Plastic quick release latch
ARB64CHSSL 6x6x4 152 x 152 x 102 PC Enclosure = Hinged opaque cover w/S.S. Lockable latch
ARB64CHSS 6x6x4 152 x 152 x 102 PC Enclosure = Hinged opaque cover w/S.S. Quick release latch
ARB64CHTSS 6x6x4 152 x 152 x 102 PC Enclosure = Hinged opaque cover w/S.S. Lockable twist latch
ARB64SCT 6x6x4 152 x 152 x 102 PC Enclosure = Transparent screw cover

ARB64CHSCT 6x6x4 152 x 152 x 102 PC Enclosure = Hinged transparent screw cover

ARB64CHLT 6x6x4 152 x 152 x 102 PC Enclosure = Hinged transparent cover w/Plastic quick release launch
ARB64CHSSLT 6x6x4 152 x 152 x 102 PC Enclosure = Hinged transparent cover w/S.S. Lockable latch
ARB64CHSST 6x6x4 152 x 152 x 102 PC Enclosure = Hinged transparent cover w/S.S. Quick release latch
ARG64CHTSST 6x6x4 152 x 152 x 102 PC Enclosure = Hinged transparent cover w/S.S. Lockable twist latch
Accessories

Order symbol Dimensions inch Dimensions mm  Description

APBP66 49x4.9 124 x 124 PVC Back Panel
ABP66 49x4.9 124 x 124 Painted Steel Back Panel
ALBP66 49x4.9 124 x 124 Aluminum Back Panel
ADFP66 6.1x6.2 155 x 157 Dead Front Panel w/ screws
ASPK66 Hinged Panel Kit incl. AL Panel
ASPHK6 Hinged Panel Kit w/o Panel
AMFLE Mounting Flange Set for 6" Wide Enclosure
7,32[186]
7,16[181,9]
§ pq
y = O 10-32 inserts 739718761
qp 0% I
7,04[178,9] 6,06[153,9] —t—
4,00[101,6] 4,88[124] —

155] \Wall fastening lug
89| >

28 B
@ I ® Screw cover

Top View - cover removed

7.55[1918] ————— P 8,24(209,3] 7,65(194,2]
J I lL 1,65 42
l || | i § | ik
= =
] 47211201 40711035
=3
11T [ — | N

10-32 Inserts/ L 246] Hinged with latch Hinged screw cover





